
sales@monkeytoegroup.com | www.monkeytoegroup.com

CONTENTS.

Product Overview

Suggested Tool List

Correct & Incorrect Installation

RC02 Clip Installation

Installation - CM01

Installation - CM02

Installation Aide CM01 & CM02

Installation - CM03

Installation - CM05

Installation - CM10

2

4

5

6

7

8

9

10

11

13

Scan me to 
watch installation 
video

Scan me to 
watch installation 
video



TYPICAL USES / APPLICATIONS 

• Roof top mounting for air conditioning & refrigeration 
condenser units

• Hot water unit mounting

• Telecommunication equipment mounting

• Supports for cable trays and pipes

• F

• Air Handling Units

CHARACTERISTICS / ADVANTAGES

• Support for equipment up to 1000kg

• Suits a wide range of HVAC+R units

• Proprietary pre-engineered system

• Fully engineered & certified with supporting documentation

• Utilises the unique Monkeytoe RC02 roofing clip

• Adjustable from 0-15 degrees to suit roof pitch

• Can mount through most steel roof sheeting profiles

• Kit set construction ensures easy on-site assembly

• Weight is transferred to building structure

CONDENSER MOUNTS

Monkeytoe 
Condenser Roof Mounts

TECHNICAL DATA / 

MATERIALS

Loading Capacity:

• CM00 - 0-50kg

• CM01 - 0-120kg up to to 2400mm purlin spacing’s

• CM03 - 0-300kg up to 2400mm purlin spacing’s

• CM05 - 0-500kg up to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 2400mm purlin spacing’s

PRODUCT DESCRIPTION

Adjustable aluminium roof mounting product for HVAC units

TESTS APPROVALS / STANDARDS

•

•

•

CONDENSER MOUNTS  |  Condenser Roof Mounts 1/8

PRODUCT SPECIFICATION SHEET

• UV Stabilised TPE Rubber Anti Vibration Mounts - 50% reduction in vibration and full 
galvanic isolation

Extrusions: high tensile structural marine grade aluminium•

Fixings: Dacromat coated Stainless Steel TEK Screws•

Roof Connections: HD 30% Glass filled Nylon, UV resistant RC02 Roof Clip•

Dacromat Coated Combi Stud•

Neoprene Sealing Washers•

HVACR units

Air Handling Units

Package Units

CM01 - 0-120kg up to 2400mm purlin spacing’s

CM02 - 0-200kg up to 2400mm purlin spacing’s

1200 & 1500 purlin spacing’s

BRANZ Tested Neoprene Sealing Washers

° to suit roof pitchup to 28 degrees to suit roof pitchup to 28 degrees to suit roof pitch

CONDENSER MOUNT | Condenser Roof Mounts 2/14EVERYTHING BETTER



CONDENSER MOUNTS | Condenser Roof Mounts
3/7

CONDENSER MOUNT | Condenser Roof Mounts 3/14EVERYTHING BETTER



114 Gauge Tek Driver Bits12mm Drill Bit

Impact Driver Cordless Drill

5mm Hex Head Bit
- included in kit

Level

Marker Pen

Tape Measure

CONDENSER MOUNT | Condenser Roof Mounts 4/14EVERYTHING BETTER



CORRECT INSTALLATION

CORRECT INSTALLATION

INCORRECT INSTALLATION

INCORRECT INSTALLATION

INCORRECT INSTALLATION

12

1/8

Suits a wide range range of HVAC units

Adjustable aluminium roof mounting product for HVAC units

Roof top mounting for air conditioning & refrigeration units

Hot water unit mounting

Fully engineered & certified documentation

Utilises the unique Monkeytoe RC02 roofing clip

1/8
1/8

Weight is transferred to building structure

Adjustable from 0-15 Degrees to suit roof pitch

Kit set construction ensures easy on-site assembly

Can mount through most steel roof sheeting profiles

• CM01 - 0-120kg up to 2400mm purlin spacing’s

• CM02 - 0-200kg up to 2400mm purlin spacing’s

• CM03 - 0-300kg up to  2400mm purlin spacing’s

• CM05 - 0-500kg 1200mm to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 1200mm & 1500mm purlin spacing’s

• Extrusions high tensile structural marine grade aluminium

• Dacromat coated Stainless Steel TEK Screws

    Roof connections: HD 30% Glass filled Nylon, UV resistant Roof Clip.

• Dacromat Coated Combi Stud

• Neoprene Sealing Washers

• UV Stabillised TPE Rubber Anti Vibration Mounts - 50 % reduction in vibration and full galvanic isolation

74/12

CORRECT & INCORRECT INSTALLATION
MONKEYTOE - FIXINGS

TRA PE ZOI DAL
RO OFING P RO FILE

SECTION A-A

TRA PE ZOI DAL
RO OFING P RO FILE EXISTING RO OFING 

T EK  SC RE WS

TRA PE ZOI DAL
RO OFING P RO FILE

STEEL OR TIMBER PURLINS

P
R

O
F

ILE
D

E
P

T
H

A

A

CORRECT INSTALLATIONCORRECT INSTALLATION

CONDENSER MOUNT | Condenser Roof Mounts 5/14EVERYTHING BETTER



1/8

Suits a wide range range of HVAC units

Adjustable aluminium roof mounting product for HVAC units

Roof top mounting for air conditioning & refrigeration units

Hot water unit mounting

Fully engineered & c ation

Utilises the unique Monkeytoe RC02 r

1/8
1/8

Weight is transferred to building structure

Adjustable from 0-15 Degrees to suit roof pitch

Kit set construction ensures easy on-site assembly

Can mount through most steel roof sheeting pr

• CM01 - 0-120kg up to 2400mm purlin spacing’s

• CM02 - 0-200kg up to 2400mm purlin spacing’s

• CM03 - 0-300kg up to  2400mm purlin spacing’s

• CM05 - 0-500kg 1200mm to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 1200mm & 1500mm purlin spacing’s

• Extrusions high tensile structural marine grade aluminium

• Dacromat coated Stainless Steel TEK Screws

    Roof connections: HD 30% Glas resistant Roof Clip.

• Dacromat Coated Combi Stud

• rene Sealing Washers

• UV Stabillised TPE Rubber Anti Vibration Mounts - 50 % reduction in vibration and full galvanic isolation

75/12

fi
fi

fi
fi

fi

fi

fi
fi

fi
fl

CONDENSER MOUNT | Condenser Roof Mounts 6/14EVERYTHING BETTER



ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
4MKT ROOF CLIP (FOR PM01)RC02.32
4M12 x 75mm COMBISTUDRC05C.753
4Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

2414g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
614g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
2CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2STD CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM002.*8
4STD CONDENSER MOUNT TOP RAIL END CAPPEC309
4ANTI-VIBRATION PADCM.AVP.2.B10
4ANTI-VIBRATION WASHER ASSYCM.AVW.211

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

28/04/2022
SHEET 1 OF 4

REV:1

CM-NZ-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

6

11

10

6

9

8

1

1

3

4

2

5

5

7

5

5

5

7

8

5
120kg CONDENSER MOUNT 
INSTALL PROCEDURE

Fix roofing clips (#2,3,4) down to purlins
. Use 4x 14G x 25mm TEK screws

(#5) to connect to roof rails (#1).

Slot the top rails (#8) over the upper roof rail (do
not fix in place just yet).

Level up the top rails while positioning the
upright (#7) on the outer face of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to
the top rail using 2x 14G x 25mm TEK screws
(#5).

Position the assembled top rail/upright to suit
the footprint of the Unit. Fix to the top roof rail
using 1x 14G x 50mm TEK screw (#6) & to the
lower roof rail using 2x 14G x 25mm TEK
screws (#5).

Fix the unit to the mount using the provided
Anti-vibrations pads (#10,11) & 14G x 50mm
TEK screws (#6). (Alternatively an M8x90mm
Stainless Steel bolt & Nyloc nut with washers
can be used to fix right through the top rail).
Ensure the face of the unit is within the max.
distance from the upper roof rail. Tighten till
there is approx. 2mm of crush on the
anti-vibration pad.

Insert end caps (#9) into the ends of top rails.

Ensure the work area is cleaned & free of any
filings or debris.

300mm max. Unbraced
400mm max. Braced

9

CM01

ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
4MKT ROOF CLIP (FOR PM01)RC02.32
4M12 x 75mm COMBISTUDRC05C.753
4Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

2614g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
414g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
2CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
4PM31 EXTRUSION END CAPPEC319
4ANTI-VIBRATION PADCM.AVP.2.B10
4ANTI-VIBRATION WASHER ASSYCM.AVW.211
4M8 x 120mm S/S HEX BOLTFBS08.12012
8M8 x 17 x 1.2mm, 304 S/S FLAT WASHERFWS08.113
4M8 304 S/S NYLOC NUTFNS08.114

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

02/05/2022
SHEET 3 OF 6

REV:1

CM-AU-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

200kg CONDENSER MOUNT 
INSTALL PROCEDURE
1. Fix roofing clips (#2,3,4) down to purlins (see

page 4 for further details). Use 4x 14G x 25mm
TEK screws (#5) to connect to roof rails (#1).

2. Slot the top rails (#8) over the upper roof rail
(do not fix in place just yet).

3. Level up the top rails while positioning the
upright (#7) on the outer face of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to
the top rail using 3x 14G x 25mm TEK screws
(#5).

4. Position the assembled top rail/upright to suit
the footprint of the Unit. Fix to the top roof rail
using 2x 14G x 50mm TEK screws (#6) & to the
lower roof rail using 2x 14G x 25mm TEK
screws (#5).

5. Drill Ø9 holes thru both top rails & fix the unit to
the mount using the provided Anti-vibrations
pads (#10,11) & M8x120mm Stainless Steel
bolt/washers/Nyloc nut (#12,13,14). Ensure the
face of the unit is within the max. distance from
the upper roof rail. Tighten till there is approx.
2mm of crush on the anti-vibration pad.

6. Insert end caps (#9) into the ends of top rails.

7. Ensure the work area is cleaned & free of any
filings or debris.

NOTE:

400mm max.

3

4

5

2
1

7

5

5

8

1

9

7

5

8

10
11

13
126 6

9

1/8

Suits a wide range range of HVAC units

Adjustable aluminium roof mounting product for HVAC units

Roof top mounting for air conditioning & refrigeration units

Hot water unit mounting

Fully engineered & c ation

Utilises the unique Monkeytoe RC02 r

1/8
1/8

Weight is transferred to building structure

Adjustable from 0-15 Degrees to suit roof pitch

Kit set construction ensures easy on-site assembly

Can mount through most steel roof sheeting pr

• CM01 - 0-120kg up to 2400mm purlin spacing’s

• CM02 - 0-200kg up to 2400mm purlin spacing’s

• CM03 - 0-300kg up to  2400mm purlin spacing’s

• CM05 - 0-500kg 1200mm to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 1200mm & 1500mm purlin spacing’s

• Extrusions high tensile structural marine grade aluminium

• Dacromat coated Stainless Steel TEK Screws

    Roof connections: HD 30% Glas resistant Roof Clip.

• Dacromat Coated Combi Stud

• rene Sealing Washers

• UV Stabillised TPE Rubber Anti Vibration Mounts - 50 % reduction in vibration and full galvanic isolation

76/12

5

CONDENSER MOUNT | Condenser Roof Mounts 7/14EVERYTHING BETTER

6

9



ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
4MKT ROOF CLIP (FOR PM01)RC02.32
4M12 x 75mm COMBISTUDRC05C.753
4Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

2614g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
414g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
2CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
4PM31 EXTRUSION END CAPPEC319
4ANTI-VIBRATION PADCM.AVP.2.B10
4ANTI-VIBRATION WASHER ASSYCM.AVW.211
4M8 x 120mm S/S HEX BOLTFBS08.12012
8M8 x 17 x 1.2mm, 304 S/S FLAT WASHERFWS08.113
4M8 304 S/S NYLOC NUTFNS08.114

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

02/05/2022
SHEET 3 OF 6

REV:1

CM-AU-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

200kg CONDENSER MOUNT 
INSTALL PROCEDURE
1. Fix roofing clips (#2,3,4) down to purlins (see

page 4 for further details). Use 4x 14G x 25mm
TEK screws (#5) to connect to roof rails (#1).

2. Slot the top rails (#8) over the upper roof rail
(do not fix in place just yet).

3. Level up the top rails while positioning the
upright (#7) on the outer face of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to
the top rail using 3x 14G x 25mm TEK screws
(#5).

4. Position the assembled top rail/upright to suit
the footprint of the Unit. Fix to the top roof rail
using 2x 14G x 50mm TEK screws (#6) & to the
lower roof rail using 2x 14G x 25mm TEK
screws (#5).

5. Drill Ø9 holes thru both top rails & fix the unit to
the mount using the provided Anti-vibrations
pads (#10,11) & M8x120mm Stainless Steel
bolt/washers/Nyloc nut (#12,13,14). Ensure the
face of the unit is within the max. distance from
the upper roof rail. Tighten till there is approx.
2mm of crush on the anti-vibration pad.

6. Insert end caps (#9) into the ends of top rails.

7. Ensure the work area is cleaned & free of any
filings or debris.

NOTE:

400mm max.

3

4

5

2
1

7

5

5

8

1

9

7

5

8

10
11

13
126 6

9

CM02

ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
4MKT ROOF CLIP (FOR PM01)RC02.32
4M12 x 75mm COMBISTUDRC05C.753
4Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

2614g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
414g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
2CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
4PM31 EXTRUSION END CAPPEC319
4ANTI-VIBRATION PADCM.AVP.2.B10
4ANTI-VIBRATION WASHER ASSYCM.AVW.211
4M8 x 120mm S/S HEX BOLTFBS08.12012
8M8 x 17 x 1.2mm, 304 S/S FLAT WASHERFWS08.113
4M8 304 S/S NYLOC NUTFNS08.114

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

02/05/2022
SHEET 3 OF 6

REV:1

CM-AU-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

t d
.©

200kg CONDENSER MOUNT 
INSTALL PROCEDURE
1. Fix roofing clips (#2,3,4) down to purlins (see

page 4 for further details). Use 4x 14G x 25mm
TEK screws (#5) to connect to roof rails (#1).

2. Slot the top rails (#8) over the upper roof rail
(do not fix in place just yet).

3. Level up the top rails while positioning the
upright (#7) on the outer face of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to
the top rail using 3x 14G x 25mm TEK screws
(#5).

4. Position the assembled top rail/upright to suit
the footprint of the Unit. Fix to the top roof rail
using 2x 14G x 50mm TEK screws (#6) & to the
lower roof rail using 2x 14G x 25mm TEK
screws (#5).

5. Drill Ø9 holes thru both top rails & fix the unit to
the mount using the provided Anti-vibrations
pads (#10,11) & M8x120mm Stainless Steel
bolt/washers/Nyloc nut (#12,13,14). Ensure the
face of the unit is within the max. distance from
the upper roof rail. Tighten till there is approx.
2mm of crush on the anti-vibration pad.

6. Insert end caps (#9) into the ends of top rails.

7. Ensure the work area is cleaned & free of any
filings or debris.

NOTE:

400mm max.

3

4

5

2
1

7

5

5

8

1

9

7

5

8

10
11

13
126 6

9

1/8

Suits a wide range range of HVAC units

Adjustable aluminium roof mounting product for HVAC units

Roof top mounting for air conditioning & refrigeration units

Hot water unit mounting

Fully engineered & c ation

Utilises the unique Monkeytoe RC02 r

1/8
1/8

Weight is transferred to building structure

Adjustable from 0-15 Degrees to suit roof pitch

Kit set construction ensures easy on-site assembly

Can mount through most steel roof sheeting pr

• CM01 - 0-120kg up to 2400mm purlin spacing’s

• CM02 - 0-200kg up to 2400mm purlin spacing’s

• CM03 - 0-300kg up to  2400mm purlin spacing’s

• CM05 - 0-500kg 1200mm to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 1200mm & 1500mm purlin spacing’s

• Extrusions high tensile structural marine grade aluminium

• Dacromat coated Stainless Steel TEK Screws

    Roof connections: HD 30% Glas resistant Roof Clip.

• Dacromat Coated Combi Stud

• rene Sealing Washers

• UV Stabillised TPE Rubber Anti Vibration Mounts - 50 % reduction in vibration and full galvanic isolation

77/12

5

CONDENSER MOUNT | Condenser Roof Mounts 8/14EVERYTHING BETTER

6



8/13EVERYTHING BETTERCONDENSER MOUNTS | Condenser Roof MountsCONDENSER MOUNT | Condenser Roof Mounts 9/14EVERYTHING BETTER



ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
6MKT ROOF CLIP (FOR PM01)RC02.32
6M12 x 75mm COMBISTUDRC05C.753
6Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124
4814g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
414g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
4CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
2PM31 to PM01 Hold Down StrapCM.HD.B01+9
4PM31 EXTRUSION END CAPPEC3110
4ANTI-VIBRATION PADCM.AVP.2.C11
4ANTI-VIBRATION WASHER ASSYCM.AVW.212
4M8 x 120mm S/S HEX BOLTFBS08.12013
8M8 x 17 x 1.2mm, 304 S/S FLAT WASHERFWS08.114
4M8 304 S/S NYLOC NUTFNS08.115

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

28/04/2022
SHEET 2 OF 4

REV:1

CM-NZ-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

300kg CONDENSER MOUNT 
INSTALL PROCEDURE

Fix roofing clips (#2,3,4) down to purlins
. Use 4x 14G x 25mm TEK screws (#5)

to connect to roof rails (#1). (4x clips for the upper
roof rail & 2x clips for the lower roof rail, positioned
as close as possible to top rails & uprights)

Slot the top rails (#8) over the upper roof rail (do
not fix in place just yet).

Level up the top rails while positioning the uprights
(#7) on the inner & outer faces of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to the
top rail using 2x 14G x 25mm TEK screws (#5).

Position the assembled top rail/upright to suit the
footprint of the Unit. Fix to the top roof rail using 2x
14G x 50mm TEK screw (#6) + 2x 14G x 25mm
TEK screws (#5) + 1x Hold down Bracket (#9) & to
the lower roof rail using 2x 14G x 25mm TEK
screws (#5).

Drill Ø9 holes thru both top rails & fix the unit to
the mount using the provided Anti-vibrations pads
(#11,12) & M8x120mm Stainless Steel
bolt/washers/Nyloc nut (#13,14,15). Ensure the
face of the unit is within the max. distance from the
upper roof rail. Tighten till there is approx. 2mm of
crush on the anti-vibration pad.

Insert end caps (#10) into the ends of top rails.

Ensure the work area is cleaned & free of any
filings or debris.

NOTE:

400mm max. Braced/Unbraced Split Unit
200mm max. Braced/Unbraced VRF Unit

13

11

14

12

6

5

9

1

8
8

1

7

5

5

7

7

10

10

5

2

4

3

CM03

ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
4MKT ROOF CLIP (FOR PM01)RC02.32
4M12 x 75mm COMBISTUDRC05C.753
4Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

2614g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
414g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
2CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
4PM31 EXTRUSION END CAPPEC319
4ANTI-VIBRATION PADCM.AVP.2.B10
4ANTI-VIBRATION WASHER ASSYCM.AVW.211
4M8 x 120mm S/S HEX BOLTFBS08.12012
8M8 x 17 x 1.2mm, 304 S/S FLAT WASHERFWS08.113
4M8 304 S/S NYLOC NUTFNS08.114

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

02/05/2022
SHEET 3 OF 6

REV:1

CM-AU-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

200kg CONDENSER MOUNT 
INSTALL PROCEDURE
1. Fix roofing clips (#2,3,4) down to purlins (see

page 4 for further details). Use 4x 14G x 25mm
TEK screws (#5) to connect to roof rails (#1).

2. Slot the top rails (#8) over the upper roof rail
(do not fix in place just yet).

3. Level up the top rails while positioning the
upright (#7) on the outer face of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to
the top rail using 3x 14G x 25mm TEK screws
(#5).

4. Position the assembled top rail/upright to suit
the footprint of the Unit. Fix to the top roof rail
using 2x 14G x 50mm TEK screws (#6) & to the
lower roof rail using 2x 14G x 25mm TEK
screws (#5).

5. Drill Ø9 holes thru both top rails & fix the unit to
the mount using the provided Anti-vibrations
pads (#10,11) & M8x120mm Stainless Steel
bolt/washers/Nyloc nut (#12,13,14). Ensure the
face of the unit is within the max. distance from
the upper roof rail. Tighten till there is approx.
2mm of crush on the anti-vibration pad.

6. Insert end caps (#9) into the ends of top rails.

7. Ensure the work area is cleaned & free of any
filings or debris.

NOTE:

400mm max.

3

4

5

2
1

7

5

5

8

1

9

7

5

8

10
11

13
126 6

9

1/8

Suits a wide range range of HVAC units

Adjustable aluminium roof mounting product for HVAC units

Roof top mounting for air conditioning & refrigeration units

Hot water unit mounting

Fully engineered & c ation

Utilises the unique Monkeytoe RC02 r

1/8
1/8

Weight is transferred to building structure

Adjustable from 0-15 Degrees to suit roof pitch

Kit set construction ensures easy on-site assembly

Can mount through most steel roof sheeting pr

• CM01 - 0-120kg up to 2400mm purlin spacing’s

• CM02 - 0-200kg up to 2400mm purlin spacing’s

• CM03 - 0-300kg up to  2400mm purlin spacing’s

• CM05 - 0-500kg 1200mm to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 1200mm & 1500mm purlin spacing’s

• Extrusions high tensile structural marine grade aluminium

• Dacromat coated Stainless Steel TEK Screws

    Roof connections: HD 30% Glas resistant Roof Clip.

• Dacromat Coated Combi Stud

• rene Sealing Washers

• UV Stabillised TPE Rubber Anti Vibration Mounts - 50 % reduction in vibration and full galvanic isolation

78/129/13

5

CONDENSER MOUNT | Condenser Roof Mounts 10/14EVERYTHING BETTER

6



ITEM
QTYDESCRIPTIONCODEITEM

22400mm LONG PM01, COMPLETE WITH END CAPS & TEKSPM01.241
12MKT ROOF CLIP (FOR PM01)RC02.32
12M12 x 75mm COMBISTUDRC05C.753
12Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

10814g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
614g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
6CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
3H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
2PM36 TOP RAIL WITH END CAPS & TEKS - 2400mm LONGCM005.249
3PM31 to PM01 Hold Down StrapCM.HD.B01+10
6PM31 EXTRUSION END CAPPEC3111
6ANTI-VIBRATION PADCM.AVP.1.C12
6ANTI-VIBRATION WASHER ASSYCM.AVW.113
6M10 x 25mm S/S HEX SET SCREWFBS10.5014
6M10 x 21 x 1.6mm, 304 S/S FLAT WASHERFWS10.115
6M10 Stainless Steel Spring NutFNS10.216

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

27/04/2022
SHEET 3 OF 4

REV:1

CM-NZ-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

500kg CONDENSER MOUNT INSTALL PROCEDURE

NOTE:

CM05

ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
4MKT ROOF CLIP (FOR PM01)RC02.32
4M12 x 75mm COMBISTUDRC05C.753
4Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

2614g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
414g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
2CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
4PM31 EXTRUSION END CAPPEC319
4ANTI-VIBRATION PADCM.AVP.2.B10
4ANTI-VIBRATION WASHER ASSYCM.AVW.211
4M8 x 120mm S/S HEX BOLTFBS08.12012
8M8 x 17 x 1.2mm, 304 S/S FLAT WASHERFWS08.113
4M8 304 S/S NYLOC NUTFNS08.114

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

02/05/2022
SHEET 3 OF 6

REV:1

CM-AU-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

200kg CONDENSER MOUNT 
INSTALL PROCEDURE
1. Fix roofing clips (#2,3,4) down to purlins (see

page 4 for further details). Use 4x 14G x 25mm
TEK screws (#5) to connect to roof rails (#1).

2. Slot the top rails (#8) over the upper roof rail
(do not fix in place just yet).

3. Level up the top rails while positioning the
upright (#7) on the outer face of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to
the top rail using 3x 14G x 25mm TEK screws
(#5).

4. Position the assembled top rail/upright to suit
the footprint of the Unit. Fix to the top roof rail
using 2x 14G x 50mm TEK screws (#6) & to the
lower roof rail using 2x 14G x 25mm TEK
screws (#5).

5. Drill Ø9 holes thru both top rails & fix the unit to
the mount using the provided Anti-vibrations
pads (#10,11) & M8x120mm Stainless Steel
bolt/washers/Nyloc nut (#12,13,14). Ensure the
face of the unit is within the max. distance from
the upper roof rail. Tighten till there is approx.
2mm of crush on the anti-vibration pad.

6. Insert end caps (#9) into the ends of top rails.

7. Ensure the work area is cleaned & free of any
filings or debris.

NOTE:

400mm max.

3

4

5

2
1

7

5

5

8

1

9

7

5

8

10
11

13
126 6

9

1/8

Suits a wide range range of HVAC units

Adjustable aluminium roof mounting product for HVAC units

Roof top mounting for air conditioning & refrigeration units

Hot water unit mounting

Fully engineered & c ation

Utilises the unique Monkeytoe RC02 r

1/8
1/8

Weight is transferred to building structure

Adjustable from 0-15 Degrees to suit roof pitch

Kit set construction ensures easy on-site assembly

Can mount through most steel roof sheeting pr

• CM01 - 0-120kg up to 2400mm purlin spacing’s

• CM02 - 0-200kg up to 2400mm purlin spacing’s

• CM03 - 0-300kg up to  2400mm purlin spacing’s

• CM05 - 0-500kg 1200mm to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 1200mm & 1500mm purlin spacing’s

• Extrusions high tensile structural marine grade aluminium

• Dacromat coated Stainless Steel TEK Screws

    Roof connections: HD 30% Glas resistant Roof Clip.

• Dacromat Coated Combi Stud

• rene Sealing Washers

• UV Stabillised TPE Rubber Anti Vibration Mounts - 50 % reduction in vibration and full galvanic isolation

79/1210/13

5

CONDENSER MOUNT | Condenser Roof Mounts 11/14EVERYTHING BETTER

6



CM05

ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
4MKT ROOF CLIP (FOR PM01)RC02.32
4M12 x 75mm COMBISTUDRC05C.753
4Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

2614g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
414g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
2CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
4PM31 EXTRUSION END CAPPEC319
4ANTI-VIBRATION PADCM.AVP.2.B10
4ANTI-VIBRATION WASHER ASSYCM.AVW.211
4M8 x 120mm S/S HEX BOLTFBS08.12012
8M8 x 17 x 1.2mm, 304 S/S FLAT WASHERFWS08.113
4M8 304 S/S NYLOC NUTFNS08.114

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

02/05/2022
SHEET 3 OF 6

REV:1

CM-AU-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

200kg CONDENSER MOUNT 
INSTALL PROCEDURE
1. Fix roofing clips (#2,3,4) down to purlins (see

page 4 for further details). Use 4x 14G x 25mm
TEK screws (#5) to connect to roof rails (#1).

2. Slot the top rails (#8) over the upper roof rail
(do not fix in place just yet).

3. Level up the top rails while positioning the
upright (#7) on the outer face of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to
the top rail using 3x 14G x 25mm TEK screws
(#5).

4. Position the assembled top rail/upright to suit
the footprint of the Unit. Fix to the top roof rail
using 2x 14G x 50mm TEK screws (#6) & to the
lower roof rail using 2x 14G x 25mm TEK
screws (#5).

5. Drill Ø9 holes thru both top rails & fix the unit to
the mount using the provided Anti-vibrations
pads (#10,11) & M8x120mm Stainless Steel
bolt/washers/Nyloc nut (#12,13,14). Ensure the
face of the unit is within the max. distance from
the upper roof rail. Tighten till there is approx.
2mm of crush on the anti-vibration pad.

6. Insert end caps (#9) into the ends of top rails.

7. Ensure the work area is cleaned & free of any
filings or debris.

NOTE:

400mm max.

3

4

5

2
1

7

5

5

8

1

9

7

5

8

10
11

13
126 6

9

1/8

Suits a wide range range of HVAC units

Adjustable aluminium roof mounting product for HVAC units

Roof top mounting for air conditioning & refrigeration units

Hot water unit mounting

Fully engineered & c ation

Utilises the unique Monkeytoe RC02 r

1/8
1/8

Weight is transferred to building structure

Adjustable from 0-15 Degrees to suit roof pitch

Kit set construction ensures easy on-site assembly

Can mount through most steel roof sheeting pr

• CM01 - 0-120kg up to 2400mm purlin spacing’s

• CM02 - 0-200kg up to 2400mm purlin spacing’s

• CM03 - 0-300kg up to  2400mm purlin spacing’s

• CM05 - 0-500kg 1200mm to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 1200mm & 1500mm purlin spacing’s

• Extrusions high tensile structural marine grade aluminium

• Dacromat coated Stainless Steel TEK Screws

    Roof connections: HD 30% Glas resistant Roof Clip.

• Dacromat Coated Combi Stud

• rene Sealing Washers

• UV Stabillised TPE Rubber Anti Vibration Mounts - 50 % reduction in vibration and full galvanic isolation

710/1211/13CONDENSER MOUNT | Condenser Roof Mounts 12/14EVERYTHING BETTER



32400mm LONG PM01, COMPLETE WITH END CAPS & TEKSPM01.241
24MKT ROOF CLIP (FOR PM01)RC02.32
24M12 x 75mm COMBISTUDRC05C.753
24Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

25614g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
814g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
8CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
8CONDENSER MOUNT UPRIGHT - 150/300mm LONGCM001.*8
4PM31 H/D CONDENSER MOUNT TOP RAIL - 3100mm LONGCM003.319
3PM36 TOP RAIL WITH END CAPS & TEKS - 2400mm LONGCM005.2410
4PM31 to PM01 Hold Down StrapCM.HD.B01+11
8PM31 EXTRUSION END CAPPEC3112
9ANTI-VIBRATION PADCM.AVP.1.C13
9ANTI-VIBRATION WASHER ASSYCM.AVW.114
9M10 x 25mm S/S HEX SET SCREWFBS10.5015
9M10 x 21 x 1.6mm, 304 S/S FLAT WASHERFWS10.116
9M10 Stainless Steel Spring NutFNS10.217
8NOTCHED 50x3 EA - 3100mm LONGPM16.3118

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

27/04/2022
SHEET 4 OF 4

REV:1

CM-NZ-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

0kg CONDENSER MOUNT INSTALL PROCEDURE

CM10

ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
4MKT ROOF CLIP (FOR PM01)RC02.32
4M12 x 75mm COMBISTUDRC05C.753
4Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

2614g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
414g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
2CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
4PM31 EXTRUSION END CAPPEC319
4ANTI-VIBRATION PADCM.AVP.2.B10
4ANTI-VIBRATION WASHER ASSYCM.AVW.211
4M8 x 120mm S/S HEX BOLTFBS08.12012
8M8 x 17 x 1.2mm, 304 S/S FLAT WASHERFWS08.113
4M8 304 S/S NYLOC NUTFNS08.114

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

02/05/2022
SHEET 3 OF 6

REV:1

CM-AU-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

200kg CONDENSER MOUNT 
INSTALL PROCEDURE
1. Fix roofing clips (#2,3,4) down to purlins (see

page 4 for further details). Use 4x 14G x 25mm
TEK screws (#5) to connect to roof rails (#1).

2. Slot the top rails (#8) over the upper roof rail
(do not fix in place just yet).

3. Level up the top rails while positioning the
upright (#7) on the outer face of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to
the top rail using 3x 14G x 25mm TEK screws
(#5).

4. Position the assembled top rail/upright to suit
the footprint of the Unit. Fix to the top roof rail
using 2x 14G x 50mm TEK screws (#6) & to the
lower roof rail using 2x 14G x 25mm TEK
screws (#5).

5. Drill Ø9 holes thru both top rails & fix the unit to
the mount using the provided Anti-vibrations
pads (#10,11) & M8x120mm Stainless Steel
bolt/washers/Nyloc nut (#12,13,14). Ensure the
face of the unit is within the max. distance from
the upper roof rail. Tighten till there is approx.
2mm of crush on the anti-vibration pad.

6. Insert end caps (#9) into the ends of top rails.

7. Ensure the work area is cleaned & free of any
filings or debris.

NOTE:

400mm max.

3

4

5

2
1

7

5

5

8

1

9

7

5

8

10
11

13
126 6

9

1/8

Suits a wide range range of HVAC units

Adjustable aluminium roof mounting product for HVAC units

Roof top mounting for air conditioning & refrigeration units

Hot water unit mounting

Fully engineered & c ation

Utilises the unique Monkeytoe RC02 r

1/8
1/8

Weight is transferred to building structure

Adjustable from 0-15 Degrees to suit roof pitch

Kit set construction ensures easy on-site assembly

Can mount through most steel roof sheeting pr

• CM01 - 0-120kg up to 2400mm purlin spacing’s

• CM02 - 0-200kg up to 2400mm purlin spacing’s

• CM03 - 0-300kg up to  2400mm purlin spacing’s

• CM05 - 0-500kg 1200mm to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 1200mm & 1500mm purlin spacing’s

• Extrusions high tensile structural marine grade aluminium

• Dacromat coated Stainless Steel TEK Screws

    Roof connections: HD 30% Glas resistant Roof Clip.

• Dacromat Coated Combi Stud

• rene Sealing Washers

• UV Stabillised TPE Rubber Anti Vibration Mounts - 50 % reduction in vibration and full galvanic isolation

711/1212/13

5

CONDENSER MOUNT | Condenser Roof Mounts 13/14EVERYTHING BETTER

6



CM10

ITEM
QTYDESCRIPTIONCODEITEM

2STANDARD ROOF RAIL WITH END CAPS & TEKSPM01.*1
4MKT ROOF CLIP (FOR PM01)RC02.32
4M12 x 75mm COMBISTUDRC05C.753
4Ø35 x 12mm NEOPRENE SEALING WASHERFWN35.124

2614g x 25mm Dacromet Coated S/S Self Drilling TekFTS14.255
414g x 50mm Dacromet Coated S/S Self Drilling TekFTS14.506
2CONDENSER MOUNT UPRIGHT - 150/300/600mm LONGCM001.*7
2H/D CONDENSER MOUNT TOP RAIL - 1300/1900/2500mm LONGCM003.*8
4PM31 EXTRUSION END CAPPEC319
4ANTI-VIBRATION PADCM.AVP.2.B10
4ANTI-VIBRATION WASHER ASSYCM.AVW.211
4M8 x 120mm S/S HEX BOLTFBS08.12012
8M8 x 17 x 1.2mm, 304 S/S FLAT WASHERFWS08.113
4M8 304 S/S NYLOC NUTFNS08.114

A3
DWG No:

DO NOT SCALE DIMENSIONS IN MILLIMETERS

MONKEYTOE - CONDENSER MOUNTS

02/05/2022
SHEET 3 OF 6

REV:1

CM-AU-INST-01

INSTALL GUIDE & PROCEDURES

SCALE: NTS

Th
is

 d
ra

w
in

g 
an

d 
as

so
ci

at
ed

 d
es

ig
n 

is
 th

e 
co

py
rig

ht
 a

nd
 p

ro
pe

rty
 o

f M
on

ke
yt

oe
 L

td
. I

t s
ha

ll 
no

t b
e 

us
ed

 fo
r a

ny
 p

ur
po

se
 o

r p
ro

je
ct

, w
ith

ou
t p

rio
r w

rit
te

n 
co

ns
en

t o
th

er
 th

at
 d

es
ig

na
te

d 
by

 M
on

ke
yt

oe
 L

td
.©

200kg CONDENSER MOUNT 
INSTALL PROCEDURE
1. Fix roofing clips (#2,3,4) down to purlins (see

page 4 for further details). Use 4x 14G x 25mm
TEK screws (#5) to connect to roof rails (#1).

2. Slot the top rails (#8) over the upper roof rail
(do not fix in place just yet).

3. Level up the top rails while positioning the
upright (#7) on the outer face of the top rail &
slotting over the lower roof rail (Trim uprights to
suit if necessary). Once level fix the upright to
the top rail using 3x 14G x 25mm TEK screws
(#5).

4. Position the assembled top rail/upright to suit
the footprint of the Unit. Fix to the top roof rail
using 2x 14G x 50mm TEK screws (#6) & to the
lower roof rail using 2x 14G x 25mm TEK
screws (#5).

5. Drill Ø9 holes thru both top rails & fix the unit to
the mount using the provided Anti-vibrations
pads (#10,11) & M8x120mm Stainless Steel
bolt/washers/Nyloc nut (#12,13,14). Ensure the
face of the unit is within the max. distance from
the upper roof rail. Tighten till there is approx.
2mm of crush on the anti-vibration pad.

6. Insert end caps (#9) into the ends of top rails.

7. Ensure the work area is cleaned & free of any
filings or debris.

NOTE:

400mm max.

3

4

5

2
1

7

5

5

8

1

9

7

5

8

10
11

13
126 6

9

1/8

Suits a wide range range of HVAC units

Adjustable aluminium roof mounting product for HVAC units

Roof top mounting for air conditioning & refrigeration units

Hot water unit mounting

Fully engineered & c ation

Utilises the unique Monkeytoe RC02 r

1/8
1/8

Weight is transferred to building structure

Adjustable from 0-15 Degrees to suit roof pitch

Kit set construction ensures easy on-site assembly

Can mount through most steel roof sheeting pr

• CM01 - 0-120kg up to 2400mm purlin spacing’s

• CM02 - 0-200kg up to 2400mm purlin spacing’s

• CM03 - 0-300kg up to  2400mm purlin spacing’s

• CM05 - 0-500kg 1200mm to 2400mm purlin spacing’s

• CM10 - 0-1000kg up to 1200mm & 1500mm purlin spacing’s

• Extrusions high tensile structural marine grade aluminium

• Dacromat coated Stainless Steel TEK Screws

    Roof connections: HD 30% Glas resistant Roof Clip.

• Dacromat Coated Combi Stud

• rene Sealing Washers

• UV Stabillised TPE Rubber Anti Vibration Mounts - 50 % reduction in vibration and full galvanic isolation

712/1213/13CONDENSER MOUNT | Condenser Roof Mounts 14/14EVERYTHING BETTER


